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ECONOMICS — GENERAL
Paper : SEC-B-1
(Economic Data Analysis and Report Writing)

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any fen questions :

(a)
(b)
(c)
(d)
(e)
(0
(8)
(h)
®

)

(k)

)
(m)
()
(0

[ English Version ]
The figures in the margin indicate full marks.

Group - A
2x10
Mention two uses of pie chart.
Differentiate between discrete and continuous variable.
Define frequency polygon.
Differentiate between class limits and class boundaries.
What do you mean by cumulative frequency distribution?

What is meant by central tendency?

R GIRLS' COLLEGE

Find the harmonic mean of 8, 1, 6. MU RALiDHA CARY
Define Median. i LB '
Find the range of the following observations :

0,1,-1,-2,4,8

The arithmetic mean and median of a distribution are 40 and 45 respectively. Find the mode of the
distribution.

Mention the difference between correlation and regression.
What do you mean by Lorenz curve?

Why are tables and graphs important in a research report?

- What is meant by foot note?

v - n.‘ . -
What is regréssion analysis?
v

Group - B

Answer any four questions.

2. Answer the questions following the given data :

Marks in Mathematics { 10-19 | 20-29 | 30 -39 | 40 - 49

No. of Students 10 14 22 29

(a) What is the upper limit of the third class interval?

(b) What is the class width of the first class interval?

(c). Mention the class boundaries of the fourth class interval.

(d)

Find total frequency. 1+1+1+2
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3. What are the desirable properties of a good measure of central tendency? How effective is Mode as a
measure of central tendency? 3+2

4. The following table gives the distribution of Government of India outlay under the major heads of
development expenditure :

Head of expenditure _ Expenditure (% in Cr.)
Agriculture and community development 8,000
Irrigation and Power 4,000
Industry and Mining 7,000
Transport and Communication 5,500
Misc. 2,500
Total 27,000
Represent the above information by a Pie Chart. 5
5. Discuss the importance of Gini Coefficient, 5
6. What is Geometric Mean? Discuss the advantages of Geometric mean. 2+3
7. Calculate Mean Deviation about median from the following data : 5
Income (in ¥) | No. of Persons
40 - 50 5
50 - 60 10
60 -70 20
- 80 25 o
7 | GQLLEGE
80 - 90 15 - ALIDHAR GIRLS
90-100 5 WURALEES \aaaRY

Group - C

Answer any four questions.

8. What do you understand by Measures of Dispersion? Define Quartile Deviation as a measure of

dispersion. Discuss the advantage and disadvantage of standard deviation as a measure of dispersion.
243+5

9. Find the arithmetic mean, standard deviation and coefficient of variation from the following distribution :

x|0-10|{10-20|20-30|30-40|40-50
4 10 16 12 18 4+3+3
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10.

11.

12.

(a)
(b)

(c)

(a)
(b)

(a)
(b)
(c)

What is scatter diagram?

Indicate by means of suitable scatter diagrams the different types of correlation that may exist

between the variables in a bivariate data.

What is correlation coefficient? State its formula for two variables. 24543

What is bar diagram? State the different types of bar diagram.
The following data is the profit and loss information of weaving industry in West Bengal from
2000 to 2005 :
Year 2000 | 2001 | 2002 | 2003 | 2004 | 2005 _
Profit(000) | 30 | 45 20 | 40 \g,c‘k"
Loss ('000) 12 6 \ 00\’
S
Represent the above information by suitable bar diagram. Q\G\?‘\'Q:{l 2+2+6
Write a short note on literature survey. \'\Q\e\‘k\:&?}
Mention the characteristics of a good research report. \l\\SQ}‘
Write a short note on Objectives of Research. 4+3+43
13. Compute Quartile Deviation and Standard Deviation from the following data :
X Frequency
20-30 4 ,
30-40 6
20-50| 8 MURay -
- ’ ,-\O :
50 - 60 6 Lot | “LEGE 55
60-70 ' 4
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Paper : SEC-B-2
(Entrepreneurship and Development)

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Answer any fen questions : 2x10

(a)
(b)
(c)
(d)
(e)
®
(€3]
(h)
(@
0
&)
oy
(m)
(n)
(0)

Mention two characteristics of the family business.

How is an entrepreneur different from a manager?

What is the difference between a public entrepreneur and a private entrepreneur?
Mention two major obstacles of women entrepreneurship.

Define rural entrepreneur. GIRLS' COLLEGE.
What do you mean by entrepreneurship? MURAL\DHASBRARY
State two features of .MSMEs in India.

e’

What is the difference between seed capital and start up capital?

What is the full form of IDBI? In which ‘year. was it established?

Mention two limitations of fine;ﬁ-cing of venture capital.

What do you mean by public deposit?

Write any two consequences of industrial sickness.

What are the main objectives of establishing Small Industries Development Organisation (SIDO)?
What do you mean by subcontracting?

Mention two major external sources of funding for new ventures.

Group - B

2. Answer any four questions :

(a)
(b)
(c)
(d

(e)
®

Discuss briefly the various traits of a successful entrepreneur. 5
Briefly discuss the problems of rural entrepreneurs. 5
Explain any five sources/causes of conflict in family entrepreneurship. 5

What do you mean by industrial sickness? In which year sick industrial Companies (Special

Provisions) Act was passed? How does the Industrial Sickness effect the entrepreneurs?
2+1+2

Discuss briefly the different methods of financing a new venture. 5

Explain the importance of entreprenuership in economic development of a country. 5

Please Turn Over
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Group-C

Answer any four questions.

) ) . "
3. Discuss the external and internal causes of industrial sickness. 5+5

4. Explain the concept of business growth strategy. In this context, elaborate the five stages involved in

the growth of small business. 2+8
5. Discuss, in detail, the general factors responsible for entrepreneurship development. 10
5+5

6. Discuss the advantages and disadvantages of joint ventures.

7. Describe the functions of State Finance Corporation (SFC) and National Small Industries
Corporations (NSIC). . 5+5

8. Write short notes on any two of the following : 55

(a) Mergers

(b) Acquisitions .
“t AURALIDHAR GIRLS' COLLEGE

(c) Project Report
LIBRARY

(d) Industrial Estate.




